A & Ol & AF S Al A
2021E & 20 A L BHE| A
A 100 KA
Z: 110 XAl
g 111 2SMl (2l &)
H-a-8.-5 Oll &FoH & & 0] A oH Hlw =2t
ES A 690,000,000 710,000,000 |  ~A20,000,000
100 Xl Al 4= & 63,938,440 63,106,000 832,440
110 X Al 63,938,440 63, 106,000 832,440
111 ESAl 63,088,440 62,256,000 832,440
111-03 =01 Al 2,205,500 2,210,000 A4,500
[ 283 ] 2,205,500 2,210,000 A 4,500
< H2 > 2,205,500 2,210,000 A 4,500
ORS2(H2) 670,000
—lelrsE 10,0002 * 41,000 CH 410,000
- ANgXBEE 50,0008 * 3,30004 A 165,000
—HoRsE 100,0009 * 95074 & ! 95,000
OTHAHZ (M2t 25080 * 1,150,000m 287,500
OZLAZ (M) 20,800,000,0002 * 5/1,000 = 128 1,248,000
111-04 TH &b Al 10,167,514 9,822,000 345,514
[ 283 ] 10,167,514 9,822,000 345,514
< M2 > 10,167,514 9,822,000 345,514
OEXZ(H=21) 2,501,025,495,000& * 0.199% 4,977,040
OFHE (M=) 1,680,948,955,000& * 0.178% 2,992,089
OAEZSE2 (M) 959,993,558,0002 * 0.229% 2,198,385
111-05 Xt S &t Al 17,923,998 17,000,000 923,998
[ 283 A ] 17,923,998 17,000,000 923,998
< M3 > 17,923,998 17,000,000 923,998
OXtS XA (XS XH) (M S BH) 8,792,882
—-s8XNsH 212,800 * 37,500CH 7,980,000
— XS R 61,7508 * 6,150CH 379,762
—sE2Xs R 27,0708 * 16,000CH 433,120
OXNSIAM(ZEE) (M) 9,131,116
- XNSXA 232 158,000,000 * 12 1,896,000
—24H 2%23 602,926,410 » 12& 7,235,116
111-07 ZHHh A HIAl 7,501,428 7,524,000 N22,572
[ 2ers 3 ] 7,501,428 7,524,000 A22,572
<M > 7,501,428 7,524,000 A22,572
O3 (M2 D) 596,680,000 » 12& 7,160, 160
O (K2 DH) 28,439,0008 * 12¥ 341,268




& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
111-08 X & AHIAl 10,700,000 10,700,000 0
[ Letsl A ] 10,700,000 10,700,000 0
< ML > 10,700,000 10,700,000 0
OX g AHIAM(MS2t) 10,700,000
— o0& dEAY BEE 7,996,000,000& * 14 7,996,000
—x3=2 2,704,000,000& = 14 2,704,000
111-09 RS Al 14,590,000 15,000,000 A410,000
[ LBH3 14,590,000 15,000,000 410,000
< HMS > 14,590,000 15,000,000 410,000
OaSE(M=R) 14,590,000
—SEALSAHE 15,300,000,000& * 10/100 1,530,000
—LEASHE 8,000,000,000& = 10/100 800,000
—gelAME 77,000,000,000& * 10/100 7,700,000
- S8+ 45,600,000,000& = 10/100 4,560,000
M3 AtE &2 850,000 850,000 0
113-01 At = ==¢ 850,000 850,000 0
[ LEH3IAH ] 850,000 850,000 0
< ML > 850,000 850,000 0
OXNHHE = (M) 850,000,000 = 14l 850,000
200 M2l +=¢ 18,073,637 18,892,648 819,011
210 & HAN2 = 8,679,707 10,020,984 A1,341,277
211 At =< 297,573 274,888 22,685
211-02 SR MU= 297,573 274,888 22,685
[ LEH3IAH ] 297,573 274,888 22,685
< NS> 297,573 274,888 22,685
OZJNAHARZE AE=S(SEF ) 1,600,0008 * 13 1,600
OJIEt SFMLUSUHZE (M= 22,739
—IFANAM=EZ 1,749,000& = 12 1,749
— R E 3 900,000& = 13l 900
—HOIE=SE3 546,000& * 13 546
=k 831,000& = 13l 831
— st sRe 647,000& = 13l 647
— 2N 593,000& = 13l 593
— Aot 1,068,000& * 13 1,068




o200 M2
B 210 FATALSLY
211 ALY (£ @ e )
T.ou-g-2 Ol & 24 & A & Of ko HI D5 2t
— HHBBAEXDY 1,735,0008 * 13| 1,735
— 57,007 E3l 410,008 * 18] 410
—HUAES 515,0008 * 13| 515
-2=HS2Y F=E 245,0002 * 13| 245
— g 500,0008 * 13] 500
- 2CYyEs 3,000,008 * 13l 3,000
—HUASE JH 20E 10,000,0008 * 18] 10,000
OYFAUINFABHEH SUE(OISHAED)
2,958,008 * 13l 2,958
OZRMAMLHS (3 HD) 134,873
- &X 102,996
SR 5,211,203,3908 * 10/1,000 52,112
= 864,794,030 * 25/1,000 21,619
ol E 585,302,780 * 50/1,000 29,265
-2 = 31,877
= 260,489,660 * 25/1,000 6,512
ol & 507,305,905  50/1,000 25,365
OFs AT AU (3HD) 24,384
-y 864,0002 * 264 Cf 22,464
-8y 80,0008 * 2K Ch * 128 1,920
OFAMSEZAY BRI LUHE(ZAD)
25,000,000 * 14 25,000
OYHEl 15 JtH ZRMY AHB(SAID)
2,378,000% * 13l 2,378
OYME 28 NAEGSA ZRMA YHE(ZAID)
604,0008 * 13| 604
OZ=YFY AS2(ALD) 43,210,000 * 14 43,210
O=%Z HOIZE ABE(AED) 13,100,0008 + 14 13,100
OXNTHBE 3HH LHZ (& D) 1,530,520% * 43] 6. 122
O=Yo=XN3s2 SESABNE AUE(SEXNED)
7,729,0008 * 18l 7,729
O=go=XN32 SSHENLY AUE(SEXNED)
4,876,308 * 13l 4,876
OA+NE Y7 SHSBHE ASSIN B2 A8 (A4
CEELIPVEPY) 8,000,0002 * 1H2 8.000
212 AEEB4Y 1,917,504 1,887,239 30,265
212-01 S2A82 219,090 219,090 0




g 200 Mel+=¢
2 210 ZHEAA+Y
g 212 B2 (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
[ el A ] 219,090 219,090 0
< M > 219,090 219,090 0
O=zAas2(2=)(HEW) 5,000
— =&, Jiaz 400 * 25,000m = 50/100 5,000
O&EXI (& 2tn) 90,000 = 35,500m = 5/1,000 156,975
ON=L2(3It1) 400,000& * 16,500m = 25/1,000 165,000
OS&2E, AEHUEXI T (3 JHat) 9,900& = 400m 3,960
O2sd™a, HEDJ| (5l ot) 24,1009 » 20CH * 50/100 241
Oftd =, SA=(3It1) 850& * 30,270m = 50/100 12,864
Osd (3 ot) 1,250& = 1,400= 1,750
OJIEH(E It ) 65,0002 = 220 14,300
212-06 NI AtE S 86,739 86,739 0
[ etsl A ] 86,739 86,739 0
< M > 86,739 86,739 0
OSEANE AEBE(LX2IE ML) 86,739
-EXZ 6,770,670& * 128 81,248
—Ad=2=2 457,620 = 128 5,491
212-07 g ¥ =2+ 361,235 357,000 4,235
[ el A ] 361,235 357,000 4,235
< M > 361,235 357,000 4,235
OsH=3dE LdHFZ(2t0=32) 3,500,000& * 12 3,500
OFXQ MESMAMER 2HS (230 =) 7,735
—JHer(er) 5,350
g 2,000& = 2,500 5,000
ESE S 1,500& = 100 150
01 &l ol 1,000& * 200 200
—JHen(zde) 1,275
g 1,000& = 1,000 1,000
Had 750% » 300 225
ol glol 500& = 100 50
= 1,110
g 1,500& = 400 600
Had 1,000& = 300 300
ol glol 700& » 300 210
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g 200 Mel+=¢
2 210 ZHEAA+Y
g 212 B2 (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OLNY LES (MM ZARIARL) 350,000
—JHer(er) 239,000
= 3,000& = 75,000¥ 225,000
Bad 2,000& = 3,500¥ 7,000
ool 1,000& = 7,000¥ 7,000
—JHen(ze) 56,600
g 1,500& = 30,000 45,000
Fad 1,000& = 10,000 10,000
01 &l 0l 500& = 3,200 1,600
— X 54,400
g 2,5008 * 13,200 33,000
Had 1,500& = 10,000 15,000
ool 800& = 8,000 6,400
212-08 Fi=+¢ 16,600 4,600 12,000
[ 2etsl A ] 16,600 4,600 12,000
< ML > 16,600 4,600 12,000
OSHEAE =XEY ~E=(LA2lF ML)
15,000,000& * 23] * 0.1 3,000
OSSANE =XE &= (LX2AZ M)
8,000,000& =+ 23| = 0.1 1,600
OZZ 35AE FIHE &= (L2 M)
15,000,000& = 22| * 0.1 3,000
OFA(ANE . BAAL ANLE) =XHE AL S (5 H D)
9,000,000& * 12 9,000
212-09 JIEtAE ZE 1,233,840 1,219,810 14,030
[ 2etsl A ] 1,233,840 1,219,810 14,030
< ML > 1,233,840 1,219,810 14,030
OstStIsEdH AEMES(FSAE L)
100,000,000& * 50% 50,000
O=2sd=3 2 MEZ(2H0=32) 2,160
—Jl2AE MEE(3HE) 75,000& = 23 » 12& 1,800
—Jl2AE MEE(HAY) 15,000 = 23 » 12& 360
O=stilzs 2 SFHALEAEER (20 =32) 280
— Oot= 20,000 = 23| 40
— S (KR4 0t013) 10,000 = 13 » 12& 120
— JIEH(HDOIR) 10,000 = 13 » 12& 120
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I 200 M9+
o210 ML
8 212 ABRAY (Shol:@9)
H-B-8-2 0l & o8 S0l are HRE2
OYZES LEVTH QASE AE2(RZIED)
40,000,0008 * 13| 40,000
O1480IE A0 BI2RIS ABE (23012 D)
1,500,0008 * 18l 1,500
OHXNQ HMSAMMER T2 ME2(00) (2802
o) 1,002 * 500% 500
OFXQ HSAMMER ROUIH KB £ (250120
2,000 * 1,0008] 2,000
OAU+YI ASS(MSVED) 888,000
-+ 51,000,0002 * 128 612,000
—gA 8,500,008 * 122 102,000
—EZ20Y(4E) 14,500,008 * 128 174,000
OFZIF(NSTED) 490
-5y 100,008 * 18| * 2% 200
- my 70,0002 * 13| * 2% 140
— S A 150,008 * 18] * 1= 150
ORXZIIF(MSTED) 4,500
-5y 70,0002 + 53] * 62 2,100
-my 50,0008 * 83| * 6% 2,400
ORHSHE (MSUED) 1,550
-5y 150,008 * 13| * 3% 450
-Hy 100,000 * 13| » 38 300
— S A 400,000 * 13| * 22 800
ORCHMSHE(ZEZIE)(MSTED) 590
-5y 70,0002 * 13| * 22 140
-Hy 50,0008 * 13| * 3% 150
— S A 150,008 * 18| * 2 300
OMBHS(NSTED) 820
-5y 80,0008 * 13| + 3% 240
-my 60,0008 * 13| * 3% 180
— S A 200,008 * 18 * 2% 400
Onst=aze = (NSTSD) 1,200
—su%2 100,000 * 122 1,200
OOIX HAHOIYE ABR(OISHAED) 6,500
L 4,100




09 i 0

200 Al2l=+=¢
210 o HAM A=
212 B2 ¢

Z2-2-8-5 Off &4 & E 0l At Hr&E2
Had 800& = 1,000 800
gel 1,500& = 2,200 3,300
— =3 2,300
Bad 1,000& = 1,800 1,800
gel 2,000& = 250 500
— 022 50,000& = 23l 100
OL=A HAERSAE MEZ(0tSEAED)
50,000& = 103l 500
OB MeSHEH ANQAUSH =2 (LUl E D) 21,000
— =B AIEZ 5,0008 = 4509 » 40H& 23 18,000
—Of2t & F2E AIER 5,000& = 1509 » 20H& = 23 3,000
OA=UEIGRA 2= (HHIAHL L)
,000& * 1508 = 11& 8,250
o2&+ ASI(ZAlID) 500& * 8,000 = 12& 48,000
OsJIH 4t ArBE(sEXED) 25,000& = 6,0002 150,000
OMEs =0OI=X&1) 500,000& = 12& 6,000
213 =8¢ 3,740,270 3,335,597 404,673
213-01 SN =¥ 694,531 708,711 A 14,180
[ 2etsl A ] 694,531 708,711 A 14,180
< ML > 694,531 708,711 A 14,180
OXtsx s8(UsSdE) 73,188
—MRSE 2,000% = 25024 = 12& 6,000
—BH3SE 1,300& = 15024 = 12& 2,340
—0IdS=E 1,000& » 9004 = 12& 10,800
—LASE 1,0009 » 27024 = 128 3,240
- NE&dE 50,000& = 752 = 12& 45,000
—NMEgZa 1,000& = 18024 = 12& 2,160
—ASX S85 MHE=2S 700¥ * 1902 = 12& 1,596
-SSR 22 300& » 5702 » 12& 2,052
OH&JIHEs(REdEE ) 31,320
—ARSE 4,000& * 1524 = 128 720
—SSE0E & SSEAY #HE 1,000& » 6304 = 12& 7,560
—NEgLEd ¢ 2L 50,000& = 352 = 12& 21,000
—S83 u=¥ 500 » 304 * 12E 180
-SSR €2 500& » 1102 » 123 660
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I 200 MI2I4g
2 210 BAFMASY
g: 213 252849 (S9:d8d)
H-a-8.-5 Oll &FoH & Z0fl At Hlw =2t
— AL H =B AHS 2,500 « 4024 = 12% 1,200
OFEE A2 (XM L) 115,500
— 2tLH 36,000
- 01 (15H 01 &) 50,0002 * 6007 30,000
N 30,0008 * 2007 6,000
-2 (=232) 27,000
- 401 (154101 4) 150,0008 * 1207 18,000
-ONE 90,0002 * 1007 9,000
— 22 52,500
- 401 (154101 4) 350,0008 = 1207 42,000
- OHE 210,0008 * 507 10,500
OHR2E SN U3 (M2D) 2,016
—HESgELAM(HA)SEA 8008 * 20021 » 12% 1,920
—-Hg, SsFe AR 8002 * 1024 = 12% 9
Oget NS (MOISEAD) 9,240
—JIERHEESEA 1,0008 « 3002 * 12 3,600
— 220l U EUIANASEA 2,0008 « 1024 = 129 240
—QIAEHA 6002 = 30021 » 12% 2,160
- HEsS= 1,0008 « 1002A = 12 1,200
- FUSES(x)= 40080 * 4102 = 12% 1,968
-JIEt NBY 3008 * 20AH * 128 72
ORl2d 4 BEX+L(MOISSAD) 5,000 * 10,000A 50,000
ORel 2lg ¢3)| 2 (MOISEAID) 10,000
—-Fous=Eg(x)2 2 2002 = 50,000 10,000
O190 SHsS 2Z5) SN+ (MOISEAD)
200,000,000 * 14 200,000
OAZaptel ifiHel =42 (5It) 11,735
— A7 28,0009 * 220A 6,160
— o (M5)R A 9,300% * 470A 4,371
—FABH 26,5008 * 302 795
—ANDEWLL 5,3002 * 30A 159
—QEE 23 5,5002 * 40A 220
—DaE MES 3,000& = 102 30
OAS2AH MBH(511) 6,600




: 200 M4
2 210 BAFMASY
g: 213 4349 (2l &)
H-a-8.-5 Oll &FoH & & 0] A oH Hlw =2t
—AE5I18D 6,600
- 5101 20,0008 * 2024 = 12% 4,800
<A1 5,0008 * 3021 = 2% 1,800
OXNENZSHE(EXNFL D) 98,832
—-EX(Yop)ee 1,4008 « 1402 = 12& 2,352
—EX(Y0F)EY 1,000 * 802A = 12€ 960
—EX(donx=2HA 1,0008 * 702A = 12%& 840
—EX(ontHEsE 5009 = 5,50021 * 12% 33,000
—XH (A cE= 7009 = 4,00021 * 12% 33,600
— NS BAIXIDLE QLA 800 * 30021 * 128 2,880
—EXOIEAHEEA 1,0002 = 1,500 * 12 18,000
—AE2AUESE 5009 = 1,20024 * 12% 7,200
OeHsH IR (EXNFEL) 8,0002 * 700A 5,600
ORlete 24 HNSF (AL H2D) 80,500
— Ao 22 20,0009 * 2,50021 50,000
— ool %3 10,0002 * 50A 500
— AL 3,000 * 10,000A 30,000
213-02 MEHIISH2++2 1,371,000 861,000 510,000
[ 23 ] 1,371,000 861,000 510,000
< H2 > 1,371,000 861,000 510,000
OMYIINE 2 B+ (BBL25 D)
400! = 3,000,0000H 1,200,000
O848 MYIIXe 25 B+ (BHES D)
1508 = 1,140, 0000H 171,000
213-03 MEESS+AHEHH+ 150,000 110,000 40,000
[ 25 ] 150,000 110,000 40,000
< MR > 150,000 110,000 40,000
OME2E £ TS (BFALA)  100,0008 = 1,500 150,000
213-04 BAQY2 242 867,234 947,981 A80,747
[ 2ers 3 ] 867,234 947,981 AB0,747
< M2 > 867,234 947,981 AB0,747
OBAXA FIH AU (EAHASLY) 404,370
—EXTBH (2ARE2) 5,3008 = 1,600% = 12 101,760
—sSEEH(HRR) 14,4108 = 1,750% = 128 302,610
OBAHTRA F2H| £ (SAASY) 356,400




09 i 0

200 Al2l=+=¢
210 o HAM A=
213 A A2 AO|

H-a-8.-5 Oll &FoH & & 0] A oH Hlw =2t
- BXFZH(22E2) 3,000 = 1,650 » 12¥ 59,400
—BRNEEH(HPR) 13,7508 « 1,800 » 128 297,000
O22AX 4 HYHS(2AALD) 1,587
- B2t 4,20090 * 3009 1,260
—NEESREEY 8,180 * 40Y 327
OX2 L ALY (A2 ) 100,608
- EXABH(2ARSER) 5009 * 7008 * 128 4,200
—BREHEH(HPR) 5,3208 « 1,200% * 122 76,608
—HLATH (B R2) 40,0002 * 109 = 129 4,800
— B2 A 10,0008 * 1,5002 15,000
ONgES(AL22/D) 4,269
—BE Y 4,2008 * 800 3,360
— TEIEA 5,000 * 100% 500
—NEsREgd 8,1802 * 509 409
213-05 JIEt =22 657,505 707,905 A50,400
[ Lersl A ] 657,505 707,905 250,400
< H2 > 657,505 707,905 A50,400
OUEMEHIIES HAS(B#HESH) 5,0009 * 40,000H 200,000
OGN A (MOISSALD) 61,100
-0 2403 8,0008 = 6,000 48,000
-5 24012 7,0008 * 1,700 11,900
—e30lA S 3,0008 = 400A 1,200
OFNFRUA ZHXL2(H 224, NSH S)(MOISEA
) 3,0009 * 800A * 12€ 28,800
OXMNEHRDY ZHL:22(LANEL S WU 22)(E
NE=J=In'3) 15,0008 * 122 180
OMEHIISXe +4+2(BHALL)
602 * 10,000kg * 30 = 128 216,000
OUWEHIISME =2 (SHALL)
8,0002 * 500§ * 30 = 12€ 144,000
ORLXH2AE A +42(SFAIYL)
0.55¢80 = 45,000kg * 252 * 12 7,425
214 At 32,500 6,000 26,500
214-01 AML & A Ab S 31,500 6,000 25,500
[ 283 ] 31,500 6,000 25,500




09 i 0

200 Al2l=+=¢

210 o HAM A=

214 A2 (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
< NS> 31,500 6,000 25,500
OANEZE MARMOII=XD) 1,500& = 5,000kg 7,500
OM=AIEE Mah 2Ed 22 BHOH(IISXS D)
12,000& = 2,000 24,000
214-05 JIEbAL S =& 1,000 0 1,000
[ 2etsl A ] 1,000 0 1,000
< ML > 1,000 0 1,000
OXNY=sMLHEH ASAEE A2 (II=X 1)
1,000,000& * 14 1,000
215 dxuf s+ 1,144,860 1,036,260 108,600
215-01 d==uF3+Y 1,144,860 1,036,260 108,600
[ el A ] 1,144,860 1,036,260 108,600
< M > 1,144,860 1,036,260 108,600
OZNEH EREZE> UES(H#EES)
1,400,000,000& = 9/100 126,000
OZMEx RES(HMRI) 916,800
—FHSA 26,480,000,000& = 3/100 794,400
—SSHolAl 2,160,000,000& = 3/100 64,800
— KNG AL A 1,520,000,000& = 3/100 45,600
—AdEe =g 400,000,000& = 3/100 12,000
OsXEdREs 21, =£82 =3 (312tn)
8,000,000& =+ 12& 96,000
OXZ2ANEE = nR3(32t) 20,200,000& = 30/100 6,060
216 Ol Kt==¢ 1,547,000 3,481,000 1,934,000
216-01 33030l X+ 1,547,000 3,481,000 1,934,000
[ Letsl A ] 1,547,000 3,481,000 1,934,000
< ML > 1,547,000 3,481,000 1,934,000
OESH3(M=22) 13,000,000,000& * 23| = 0.35% 91,000
OFIIGS (3 A D) 280,000,000,000& * 0.52% 1,456,000
220 SAIHAN 2 == 8,396,810 7,935,144 461,666
221 THAHOH 2 =2 200,000 0 200,000
221-03 SF M2+ = 200,000 0 200,000
[ el A ] 200,000 0 200,000
< Mo > 200,000 0 200,000
SRME 22 (3 A D) 200,000,000& = 14l 200,000
222 MXEtHARES 105,000 250,000 A 145,000




g 200 Mel+=¢
2 220 LAIEA >
g 222 UHREHH2LRES (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
222-01 AX M2 ES 105,000 250,000 A 145,000
[ Letsl A ] 105,000 250,000 A 145,000
< ML > 105,000 250,000 A 145,000
FESSNLHFHAS (I S35, 23) (I 0l aa)
10,000,000& * 3IHAlZ 30,000
OZ=Es=SIgddgzds(dy,. 85,28 ) (228EM)
25,000,000& = 3MHAI2 75,000
224 JIEt=¢ 7,691,810 7,285,144 406,666
224-03 J1R=+¥ 24,000 24,000 0
[ el A ] 24,000 24,000 0
< MS > 24,000 24,000 0
Os0HE Olss0lAE 2Z(0tsHEAED)
24,000,000& * 14 24,000
224-04 XIBHEANZE S 1,800,000 0 1,800,000
[ Letsl A ] 1,800,000 0 1,800,000
< ML > 1,800,000 0 1,800,000
OXNETHEZAMN ZHS(EXNFED) 1,800,000,000& * 14 1,800,000
224-05 N WNRANTLAZEH =Y 5,500,000 0 5,500,000
[ el A ] 5,500,000 0 5,500,000
< NS> 5,500,000 0 5,500,000
OXNYAHM(XLDRA 2A2)(HRDH)
5,500,000,000& = 14! 5,500,000
224-07 12 =¢ 367,810 7,261,144 26,893,334
[ Letsl A ] 367,810 7,261,144 A6,893,334
< ML > 367,810 7,261,144 A6,893,334
SEUNESH MER(RSHEEL) 1,000,000& = 12& 12,000
ORNEZZ #>(SHFM) 300,000&  20A 6,000
O2st=s2 Htetdy AEZ (2303 2) 1,350
— 39 dtey| 50,000& = 23 » 12& 1,200
— 2l el 50,000 = 33l 150
OXM=Es S HIANAEZ(MEIELDL)
154,000 = 1320 » 10& 20,020
QAU+ E HIANEZ(MEIEDL) 1,800
—dHH83AZ=xZ2E 150,000& = 128 1,800
OANZ21 XNSEESAY X2 (M) 250,000
—sg=d 220,000,000& * 14 220,000




i 200 Mol
o220 LAIR MR
g 204 JIEHS CEEED
T.p-8-2 0l &k o4 B 0 &t o HDE2
— R 30,000,008 * 14! 30,000
ONLELZ ALYLLS(ENZLS])
4,000,000% * 821 * 7/100 2,240
ONRY SYHAXNAMH DS2 +Y(SIY4D) 50,400
- 288 120,008 * 18K CH + 102 21,600
-sE8 240,0002 * 12HCH * 102 28,800
ONFEY SYHINVMH BBRIB(HI, S8, +5)28(
SHD4D) 30,0002 * 30AICH * 102 9,000
0501 342 PEH(SEXNED) 250,002 « 603 15,000
225 XLt E 4+ ¢ 400,000 400,000 0
225-01 Xtoi E 4 400,000 400,000 0
[ 2853 ] 400,000 400,000 0
< KRB > 400,000 400,000 0
OXLSE +(HM2D) 400,000,008 * 14! 400,000
230 XIYHBHM - 213 997,120 936,520 60,600
231 B2 28,400 29,400 A1,000
231-01 =3 28,400 29,400 A1,000
[ 28502 ] 28,400 29,400 A1,000
<HRD > 28,400 29,400 A1,000
ORHYX I Y2 (RSHI D) 4,000
— 2HH 1,000,008 * 321 3,000
- A A 200,008 * 521 1,000
OYRAVY BIS(RSHID) 200,008 * 3021 6.000
0P HWAI(REHZD) 400,008 » 32 « 122 14,400
OFAHURSHSIE BHZ(OFSHAED) 1,000,008 * 421 4,000
232 0IHLH 2 65,000 65,000 0
232-01 Ol &2 X 2 65,000 65,000 0
[ 2852 ] 65,000 65,000 0
< KRB > 65,000 65,000 0
SEEEEENEENEICED 1,000,008 * 521 5,000
SEEEEENEENEIEE D 4,000,000%! * 1521 60,000
233 #43 40,000 12,000 28,000
233-01 B = 40,000 12,000 28,000
[ e ] 40,000 12,000 28,000
< KRB > 40,000 12,000 28,000




09 i 0

200 Al2l%el
230 NLHAFMM - 202
233 Ha3 (s )
F.p-8.=2 0l & o PSRE={v LT HR=Z
ON2%, 2P+ N6 HA4S (A=)
2,000,0008 * 20A 40,000
234 BVEHE 300,920 300,920 0
234-01 X H BB VENB 250,200 0 250,200
[ 23 ] 250,200 0 250,200
< H2 > 250,200 0 250,200
OHALE VHIA(RESHIY) 174,000
— Xeidte 100,000 * 5524 » 12& 66,000
— 017t 600,000 * 152H » 12& 108,000
ONSX SE IH(DEHF D) 70,200
—4NREE X 50,0008 * 524 « 12€ 3,000
—HAS=E X 100,000 * 10AH » 12& 12,000
—0XSE XA 100,0008 * 124 * 12€ 1,200
—2ADI2 BN 100,000 * 3524 » 12& 42,000
—UASE A 250,000 * 224 * 12€ 6,000
—4E£EE X 250,0008 * 224 * 12€ 6,000
OAAEIH LHBA(RS#HF L) 6,000
—2ADI2 B 50,0008 * 10A = 12€ 6,000
234-02 JIEFDIEH R 50,720 300,920 A 250,200
[ Lersl A ] 50,720 300,920 £250,200
< M2 > 50,720 300,920 A250,200
OM D 2Y EI| VHRA(SZIELSY) 200,000 * 502 10,000
Ost@AAY QL JHS(BAILZSY) 500,000 * 102 5,000
ORYIA NZAY AL WEHS (BHES D) 1,500
— et DEZ (14 100,0002 ) 100,000 * 152 1,500
OJ=EgL 22y bt BEHS(BFES W) 500,000 » 3A 1,500
OAESIMY Q8 JHS(AZEY) 200,0008 = 10A 2,000
OJNESE BEHS (MOI2E At 20,0008 * 321 = 12% 720
ORsSAANHN Qe BEHS(EXNFE D) 2,000,00082 * 15A 30,000
236 2= 562,800 529,200 33,600
23601 22 562,800 529,200 33,600
[ 283 A ] 562,800 529,200 33,600
< M3 > 562,800 529,200 33,600
OCCTVEHIMIE JI2Z 22X 1A (& IH 1)
36,400,000 * 129 436,800
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200 Al2l=+=¢

09 i 0

236 RE=

230 NIZHZMAM -

K
oy

o-8.= 0l & o PSRE={v LT HR=Z
OCCTVZ I Al E =
100,000 * 453| & « 129 54,000
OHH AR X SE2(501) 800,0008 » 50 40,000
OMg=eg 8,000,0002 * 821 * 50/100 32,000
00 Xl w2 Al 299,500,000 314,501,000 | A 15,001,000
310 XL n2Al 299,500,000 314,501,000 | 215,001,000
311 XYWL Al 299,500,000 314,501,000 A 15,001,000
311-01 2 S DA 295,000,000 310,001,000 A 15,001,000
[ 283 A ] 295,000,000 310,001,000 | A 15,001,000
< J| &0l At A 295,000,000 310,001,000 | A 15,001,000
OEsue 295,000,000,0008 * 1 295,000,000
311-03 25 4,500,000 4,500,000 0
[ 23 ] 4,500,000 4,500,000 0
< D12 0f A& 4,500,000 4,500,000 0
ORSHuURA 4,500,000,0008 * 4,500,000
400 ZHNE2ES 14,000,000 14,121,000 A 121,000
420 Al - 2ZEH QL 14,000,000 14,121,000 A121,000
421 Al - 2EFH D 14,000,000 14,121,000 A 121,000
421-01 Al - 2 14,000,000 14,121,000 A121,000
[ 23 ] 14,000,000 14,121,000 A 121,000
< D12 0f A AL 14,000,000 14,121,000 A 121,000
oLtz 14,000,000,0008 * 1 14,000,000
00 Bx2 256,589,033 248,483,576 8,105,457
510 202 X3S 200,982,537 186,884,869 14,097,668
511 208x2 200,982,537 186,884,869 14,097,668
511-01 310 152,295,649 144,863,575 7,432,074
[ 23 ] 152,295,649 144,863,575 7,432,074
< DI 0f A& 152,295,649 144,863,575 7,432,074
OBEdY 8,245
- 243 8,245,0008 * 12 8,245
ogxtela 2,308,400
—SAEAASTHAM (XS U RF2IAY)
22,500,000 * 14 22,500
—EA0YH 225,990,0008 * 14 225,990
—QEEA 89,910,000 * 14 89,910
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— NGy SHL A 1,600,000,000& * 14 1,600,000
—Z=EMAHZRNE I L NCIAMG 300,000,000& * 14 300,000
— AR H DI S ARE N 28I X2 A 49,000,000& = 14 49,000
— MEEILXAES AL (Al Z) 21,000,000& * 14 21,000
=PRI 104, 165
— I SESSUANEAAMTE 33,915,000& = 14 33,915
—GAPHE I 2 A K& 51,250,000& * 14| 51,250
—SHUESSSHEH XN ALY 19,000,000& = 14l 19,000
oZE2s 5,029,370
— 2SI R EAN S AL 566,400,000& = 14 566,400
—EHAHQOEN2S 16,000,000& * 14 16,000
—NSUHELAEIENS S 500,000& * 14 500
— NEAMBAMRSAIS X 6,000,000& = 14 6,000
—SEHHEFANEYS 22,500,000& * 14| 22,500
— OFMSSToHM LA 56,000,000& = 14| 56,000
—dIINSHES 2,552,500,000& * 14 2,552,500
— LR 1EASUHHLPGHE S X2 ALY 200,000,000 = 14 200,000
— BRI MHZEX (0PF) = = 133,000,000& * 14 133,000
—AEIH AT WA 178,200,000& = 14 178,200
— 01210l S & X+ EFLPGAH M & K| & 52,500,000& * 14| 52,500
—WNess3zed =29 97,500,000& = 14 97,500
—IHEEN=SAELHESAY 128,520,000& = 14 128,520
—SdiolEXMIXZ 424,750,000& * 14| 424,750
— SdioEE=ZAM 10,000,000& * 14 10,000
—SsHII=ssdoE=EXNH 15,000,000& * 14 15,000
— 0N X = HUH S0 22 Al 15,000,000& * 14 15,000
—OMEXSHHSo 2 A(ZH]) 5,000,000& = 14 5,000
—HIE2IHZAY 550,000,000 * 14 550,000
Ousdd 143,520
—SHAIZ N EANR 31,200,000& * 14| 31,200
—HHLYSWUSHEFANLE 2N KE 2,000,000& * 14 2,000
—WSANEASHSHATALIA 89,320,000& * 14| 89,320
—S8uUS+=dIYNE 21,000,000& * 14| 21,000
Oty =X 1t 2,242,720
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NS EHH2SH X 162,184,000 * 14 162, 184
DLz A Mt E X2 H A 750,000 » 14 750
SE Al 22l ALK & 49,284,000 = 14 49,284
IFLd=x o 98,054,000& = 14 98,054
o1 & o ! 1t
89,845,050
22y Y 2SI X 195,001,000& = 14 185,001
==X & 65,730,320,000& * 14 65,730,320
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ZoHol L BrE A X2l AL (Al 2HAL) 45,964,000 = 14| 45,964
ZOAXSTHEANE I SEZ 14,525,000& = 14| 14,525
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- RU=US/AE RS 11,535,000& = 14 11,535
- AOEJtEEEX 4,500,000& = 14 4,500
— 3ol =t 1,048,193
- FINE 2 HE = 122,100,000& = 14 122,100
- SEE0SHEAMS XA 43,289,000& = 14 43,289
- SSHH M XA A S X 2el 13,500,000& = 14 13,500
- St QL BHE HI AFY 65,225,000& * 14 65,225
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B 500 X2
2 520 Al - THIEE2S
&: 521 Al - SHIE®E2S EEEEED
T.op-g-8 Ofl &t o 0l &b o4 HRE2
- SHSUSHSSBMHUIAXNE 14,364,00080 * 14! 14,364
HE22A 54,449,00080 * 14! 54,449
- NGAS MU ASHAIS (RSEY) 18,486,008 * 14 18,486
SR EMEH 2SS XY 20,852,00080 * 14! 20,852
CDRL9ZEAINMSXAH R 500,008 * 14 500
S SEABRAXE 14,785,00080 * 14! 14,785
— oI F O QI Bt 6,005,390
CUBYU LS Y AT A 175,501,0002 * 14! 175,501
pIEX= =] 1,460,674,00080 * 14! 1,460,674
COIRESE M AAY 272,349,0002 * 14| 272,349
ST AL SE LAY 897,584,0002 * 14! 897,584
COZTAEBARSY 68,837,0008 * 14l 68,837
COYUNRILAS EEX 1,146,484,00080 * 14! 1,146,484
CENCUESEHHAST UM NI AAY
16,779,00080 * 14! 16,779
LR FAHENL AL 73,191,00080 * 14l 73,191
HAHLLRS MU NS BS Y A
20,983,0008 * 14! 20,983
A2AL2YX 70,652,00080 * 14l 70,652
L= 194,0002 * 14! 194
Ol R ONOIANGI B OIS K 7,540,000 * 14! 7,540
COETONASAHIEX 450,0008 * 14! 450
PSS ETGIES! 38,858,0008 * 14! 38,858
OSSR (XA R) 29,856,00080 * 14l 29,856
ST E A A 31,114,0008 * 14 31,114
HOANFAILISEY 6,689,00080 * 14! 6,689
CRHANAFANESY(BIEZIIAERH)
445,0002 * 14! 445
CHHAAFANESY 423,415,0008 * 14! 423,415
LTI ESIBIPE 186,0002 * 14! 186
T OHQI= X L X2l At 55,004,00080 * 14! 55,004
T 04Ol YU B A K2l AL 70,382,0008 * 14! 70,382
CRHAABI 438,824,0002 * 14! 438,824
ZojQIol 2 HI X 11,963,0008 * 14! 11,963
TONQIUBHE X2l AL (AIZERI)  13,789,00080 * 14l 13,789
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09 i 0

500 Ex=

520 Al - SHIE X2 S
521 Al - SHIEXZ2S
Z.2-8-2 Ol &k o8 B ol by

cEENZS(UM)MAMALSEUSXA 51,300,000 * 14! 51,300
— =& 469,499
cSuRRsANE 37,860,000& = 14 37,860

- El Y| &YX 3,000,000& = 14 3,000

- ZAZMAZ AL Sl K =X & 50,004,000& = 14| 50,004

c AMNSHMESHAEXE 8,496,000& = 14| 8,496
SEMSOHME AL 19,200,000& = 14 19,200

s gIEAE A A 53,094,000& = 14| 53,094

- PN YA Y XA 50,579,000& = 14 50,579
RSN Y AT S A= 37,406,000& = 14| 37,406
cSUAUNESEN 6,237,000& = 14 6,237

- GPSEHEIMANMRASSHAHATRS 2,430,000& = 14 2,430
JlSsItE2g el X3 18,000,000& = 14| 18,000
cHAUEDISSEMAE AL 3,600,000& = 14 3,600
cSHEASIHASHEXNZ 18,150,000& = 14 18,150

- ZMS0ISH(AHEZF) 13,680,000& = 14| 13,680

- SLSHACCPH A E (s &) ALY 1,800,000& = 14 1,800
U SAMSAMAANRSZ LT 30,0008 * 14 30
ReERISSFIESHXNE 1,470,000& = 14 1,470

2D SHES XN 720,000& = 14 720
AE2det(ZE)HEEFH| 37,611,000& = 14 37,611

- ESSsLYME2EXA 32,132,000& = 14 32,132
-AXMEEASAE 50,000,000& = 14 50,000

- HATHIXA 6,000,000& = 14 6,000
-CCTvaddolTmetE XA & ALY 13,500,000& = 14 13,500

- HetEE X ERE 4,500,000& = 14 4,500
—sENT 112,800
CSE=ESI/HWUA 30,000,000& = 14 30,000
sIIHSHEXNREZXXE 1,800,000& = 14 1,800
HeZstgdsII AL XA 21,000,000& = 14 21,000
FMX L2 HsIIHK 60,000,000& = 14 60,000

— 3 A A 210,000
-HEANEE XA 210,000,000& = 14 210,000
— A NBZEAR A 67,525
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E: 500 BE2
B: o520 Al - SHIRZZS
8 501 Al - SHIBEZ2S (Shol:@9)
T.u-8.-2 Ol & o S0l are HDE2
SRUHSS LA S 36.525,0008 * 14 36.525
CASUSEMLFALIRLYANY (RS
31,000,0008 * 14} 31,000
OZH 22 33,186,925
— Dl =l ofl &t &l 30,996
AAS T A A 25,228,00091 * 14| 25,228
AN EEAALYS 5,768,0008 * 14! 5,768
—E2FM 17,533
== O] 2,000,000% * 14! 2,000
Hosiie T2 MBS 9,188,0008 * 14! 9,188
HAZZ0IT0IPE(2HAZAH)
6,345,0008 * 14! 6,345
—aAmoEC 5,389,000
+ 202121 7 2 J| Al H ©1 Ao A T} 5| X| &
5,389,000,0008 * 14 5,389,000
- L EES R 1,255, 104
CTA-TEEE S X 2 27,000,000%1 * 14} 27,000
SPVEIE=F E RS IF= Pk 19,566,0008 * 141 19,566
ZEFHE LI Z YIS AL 31,500,00091 * 14| 31,500
HUAEIELX A 36.,136,0009 * 14 36,136
EAYYANDTZME (SAI|LAEASH)
7,200,008 * 14! 7,200
CHEIRTUAZHSAY 23,310,000% * 14 23,310
XA XN Q& 3,700,0008 * 14! 3,700
FHYXRME 2 LAY 40,000,000%1 * 14| 40,000
22N 0SS RO X & 7,500,008 * 14! 7,500
CEHENEABHSAY 15,000,0008 * 144 15,000
22n=Exse ey 380,000,0008 * 14 380,000
- HSANFZETH BRI A AL 2,558,0008 * 14! 2,558
S L PONE! 15,540,0008 * 14 15,540
- BRSY B LAY 151,946,008 * 14! 151,946
HENZSATHARALNBAAY  26,887,0008 * 14 26,887
MEEZH YA DEY 25,000,00091 * 14| 25,000
ZZ2EAMY 7,344,0008 * 14! 7,344
C HRIEIIAHERED| (EHOI T 2) 23 ALY
12,480,0008 * 14 12,480
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09 i 0

500 Ex=

520 Al - SHIEXZS
521 Al - SHIEXZ2S
Z-#-8-2 0l &t o 0 ot o

MBI DR 2 (OPAI S, 9l 01 5 S) &l X ALY
10,500,000 = 14l 10,500
-HEESSEEHSNE 6,675,000& * 14| 6,675
- SAOIMBS XA B4R LAY 15,000,000& = 14| 15,000
- DN XA SSEX 9,000,000& * 14 9,000
-MESEZCHSAELEIAY 22,500,000& * 14 22,500
- MEHCI M SAAS (HMEAY) 1,625,000,000& * 14 1,625,000
- SSSHEEMNLAESE 54,000,000& * 14| 54,000
I EE2ERSSHeAMNEREXR 48,000,000& = 14| 48,000
—unsdHF 338,052
DEAXNSHHS KA BHOIHEE 4,350,000& = 14 4,350
NMUHsHEHATHE L Z =X 174,102,000& = 14| 174,102

ANUSOEHALDAHA DAY KR

30,000,000& * 14 30,000
- USUHHEALES MG 111,600,000 = 14 111,600
NIOl ZER Al AL XI & 18,000,000 = 14l 18,000
— &g =X 719,274
- AMEASEYESALY 1,000,000& * 14 1,000
S22 L2LIHRE 1,279,000& * 14 1,279
Y zelH 23,913,000& * 14 23,913
- AFEZAIR QI 138,120,000 » 14 138,120
-MEZAMNESEUH 6,919,000& = 14 6,919
- AE XS DY Xt 160,000,000 = 14 160,000
AH2 2 AR X 2EHI Al A 8 (GPS) 572,000& = 14| 572
- MEATHHLHASMAHAA 2,400,000& * 14 2,400
- APAFEH S X S X & Lok A 2,100,000& * 14 2,100
2522 17,174,000& = 14! 17,174
-HESEH A A 51,458,000& = 14 51,458
AR 41,040,000& = 14| 41,040
- FTACHHI XIS S 3t AL 225,000& * 14 225
- SEUXNENRSYSDI 1,000,000& * 14 1,000
NEHUOENECINE RS LSO 540,000& * 14 540
- M SEI S HA 14,850,000& = 14| 14,850
- HESEH LA 12,627,000& = 14| 12,627
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- 10TOlgt = 2 2t el 8,100,000& = 14 8,100
-—sENT 241,782
- S AOIANE REXE 4,500,000& = 14 4,500
- SIHHASUHAIS ACNE X 12,960,000& = 14| 12,960
csZIHNSSEHEH X 2,400,000& = 14 2,400
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
- SHUMBESXE 18,150,000& * 14 18,150
sENCSHNMESXR 1,200,000& * 14 1,200
cSHYU XA 42,000,000& * 14 42,000
sEussg8sd 21,000,000& * 14 21,000
cSIHEsMSHSEEAE 31,500,000& = 14 31,500
- SENE N SAHAAIE 21,000,000& * 14 21,000
-HIEEsN =g xd 6,000,000& = 14 6,000
-HEHHIBAEZESENE 6,570,000& » 14| 6,570
SEVHLNCIZEHENAFSUSF
3,000,000& * 14 3,000
-YSESEINESLHEIZEE 1,500,000& = 14 1,500
-EAESHIAZSES 40,500,000& * 14| 40,500
- EAENEUSHS LI AXNZ 6,000,000& = 14 6,000
AHUEES X 702,000 * 14 702
- HEsY4-HI R ESKIE 900,000& * 14 900
- SHMA-HE B M S X 900,000& = 14! 900
-HUsgoAREIIBAEXE 21,000,000& * 14| 21,000
—Jl=X&u 17,100
- 2e0EHBES XS A =TS (UNTACTZHAN)
1,800,000& = 14! 1,800
- =R S =S 22 =HEAY
4,800,000& = 14! 4,800
- MAHI EZS/ASTHA AT DI =AY
10,500,000& = 14! 10,500
—=EAME A 339,000
AR EAEMNEAY 339,000,000& * 14 339,000
00 2L SHUHEANN 37,898,890 50,895,776 A 12,996, 886
710 B8+ S 37,898,890 50,895,776 A 12,996,886
711 A= 37,898,890 50,895,776 A 12,996, 886
711-01 =MAHLAHS 37,898,890 50,895,776 A 12,996,886
[ 2etsl A ] 37,898,890 50,895,776 A 12,996, 886
< MR > 37,898,890 50,895,776 A 12,996, 886
OB A =MALAHS 37,898,890,000& = 14! 37,898,890
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